Steven Levy Enterprises, Inc. I Click here to submit via email I
1412 Pennsylvania

South Houston, Texas 77587
Phone: (713) 9104337 Fax: (713) 910-2039

Steven Levy Enterprises, Inc. is accepting bids on behalf of our clients for the following material:

SLE 22-040
Flanges, BW & Forged
Steel Fittings Sale

A105, WPB, 304L, B7, Gaskets & More!
Sealed Bid Sale

Bidder Information

Company:
(Signature) (Printed Name) (Date) (Phone Number)
Inspected Surplus  Yes No

(Check One)

Subject material to be sold on “AS IS / WHERE IS” basis.
Material is sold FOB Steven Levy Enterprises, Inc. located at 1412 Pennsylvania, South Houston, Texas.

BID DUE: Friday, December 2nd, 2022 @ NOON 12:00 PM
To inspect material or for additional information contact:

Steven Levy Enterprises, Inc. (713) 910-4337
Inspection Time 7:30 - 2:00 M-F
Available for inspection Immediately thru Bid Close
We are happy to pick up out-of-town buyers at Hobby Airport (HOU)

Seller reserves the right to reject any and all bids. Only the successful bidder will be notified of awards.

Payment is due upon notification of award. All sales will be charged sales tax unless resale tax exemption
certificate accompanies payment or is on file with Steven Levy Enterprises, Inc. Equipment is to be removed from
property within ten (10) days at buyer’s expense. Seller description of material is best available information, seller
provides no express warranties and/or guarantees as to the quantity, quality, and/or fithess for any use or
purpose. Steven Levy Enterprises, Inc. encourages all bidders to inspect material prior to placing bids.

****PLEASE SUBMIT THIS COVER PAGE WITH ALL BIDS****

Please visit our web site www.slevysurplus .com for more available equipment.




Company:
Bidder:
Phone:

| SIZE (n)

SLE Flanges, BW & Forged Steel Fittings Sale

MATERIAL

WEIGHT (Ibs.)

NOTES

LOT BID

POOS1 1 36 150 RF Blind A105 1600 Unused $
POOS2 1 40 150 RF Blind A105 2291 Unused $
POOS3 1 30 150 RF Blind A105 970 Unused $
PDWN4 1 30 150 RF WN STD A105 432 Unused $
POOS5 1 18 300 RF Blind A105 397 3/4" tap / Unused |g
POOS6 1 16 150 RF WN STD A105 137 Unused $
POOS7 1 16x 14 STD Con. Red. WPB 92 Unused $
VPAS Lot 1-1/2x 26 B7 Studs with Nuts & Washers B7 950 Unused $
VPA9 Lot 1-1/2 x 27 B7 Studs with Nuts & Washers B7 1040 Unused $
VPA10 Lot 2x15 B7 Studs with Nuts & Washers B7 697 Unused $
VPA11l Lot 1-1/2x 10 B7 Studs with Nuts & Washers B7 1770 Unused $
VPA12 Lot 1-1/2x 20 B7 Studs with Nuts B7 1450 Unused $
VPA13 Lot 1-1/4 x 1-3/4 B7 Studs with Nuts B7 1300 Unused $
VPA14 Lot 3/4 & 7/8 B7 Studs with Nuts B7 1050 Unused $
VPA1S Lot 1-1-1/4 B7 Studs with Nuts B7 1435 Unused $
VPA16 Lot 1-1/2x 11-3/4 B7 Studs with Nuts B7 324 Unused $
VPA17 Lot 7/8 -1-1/4 B7 Studs with Nuts Blue Teflon Blue Teflon 480 Unused $
VPA18 Lot 1-1-1/4 B7 Studs with Nuts & Washers B7 1628 Unused $
VPA19 41 24 300 Spiral Wound Gasket w/Inner Ring Grafoil Unused $
VPA20 32 10-32 150 - 1500 Spiral Wound Gasket w/Inner Ring Grafoil Unused $
VPA21 48 1-20 150 - 600 Spiral Wound Gasket Monel Unused $
VPA22 Apprx. 300 3/4-10 150 - 1500 Spiral Wound Gasket w/Inner Ring Grafoil Unused $
VPA23 22 R20 - R69 RTJ Gasket CS /304 Unused $
VPA24 2 10 150 RF Blind A105 136 Unused $
VPA25 Lot 1-1/2-6 150 RF Blind A105 240 Unused $
VPA27 1 8 2500 RTJ Blind A105 488 Unused $
VPA28 3 8-12 300 RF Blind A105 375 3/4" tap / Unused |g
VPA29 Lot 2-10 150/300 RF WN A105 454 Unused $
VPA30 Lot 1-1/2-6 STD/XH BW Fittings WPB 125 Unused $
VPA31 Lot 3/4-3 3M - 6M Thrd. / SW Fittings Forged Steel 412 Unused $
PDWN33 2 24 XH 45 WPHY 65 742 Unused $
PDWN34 24 XH 45 WPHY65 742 Unused $
PDWN35 3 20 XH 45 WPHY65 588 Unused $




MATERIAL WEIGHT (Ibs.) NOTES LOT BID
POO0O2-36 19 2 900 Paddle Blind CS 85 Unused $
PO02.37 2 4 300 RF Slipon A105 79 Unused s
1 6 300 RF Slipon A105 Unused
POO2-38 2 12x 10 STD Ecc. Red. WPB 62 Unused $
P0O02-39 3 1-12-3 300 - 900 RF Blind A105 40 Unused $
P0O02-40 3 8 900 RF Blind A105 561 Unused $
P002-41 2 10 900 RF Blind A105 550 3/4" tap / Unused |g
MTC42 5 sets 12 300 NPT Orfice RF STD A105 1600 Unused $
MTC43 1 20 XH BW Tee WPB 373 Unused $
1ICB44 12 8 STD BW Cap WPB 132 Unused $
ICB45 11 3 STD BW Cap WPB 17 Unused $
ICB46 3 10 XH BW Tee WPB 300 Unused $
ICB47 3 10 XH BW Tee WPB 300 Unused $
ICB48 3 10 XH BW Tee WPB 300 Unused $
ICB49 3 10 XH BW Tee WPB 300 Unused $
ICB50 3 12x 8 STD Red. Tee WCB 324 Unused $
ICB51 3 12x8 XH x STD Red. Tee WPB 438 Taper Bore/
Unused $
ICB52 6 6 SCH10 LR 90 304L 72 Unused $
ICB53 6 6 SCH10 LR 90 304L 72 Unused $
ICB54 3 10 SCH10 LR 90 304L 114 Unused $
ICB55 3 10 SCH10 LR 90 304L 114 Unused $
ICB56 5 10 SCH10 LR 90 304L 190 Unused $
ICB57 24 4x3 SCH10 Red. Tee 304L 168 Unused $
ICB58 24 4x3 SCH10 Red. Tee 304L 168 Unused $
ICB59 Lot 4-10 SCH10 Con. / Ecc. Red. 304L 100 Unused $
ICB60 Lot 4 SCH10 Cap & Tee 304L 58 Unused $
ICB61 48 3 SCH10 BW 45 304L 76 Unused $
MTC62 Lot 1-2 3000 Thrd. Red. Tee A105 / Forged Steel 843 Unused $
MTC63 Lot 2x1/2 3000 Thrd. Red. Tee A105 / Forged Steel 800 Unused $
MTCé64 Lot 1-1/2-2 3000 Thrd. Red. Tee A105 / Forged Steel 776 Unused $
MTC65 Lot 2x1/2 & 3/4 3000 Thrd. Red. Tee A105 / Forged Steel 1183 Unused $
MTC66A Lot 1-1/2 X 3/4 3000 Thrd. Red. Tee A105 / Forged Steel 773 Unused $
MTC66B Lot 1-12 3000 Thrd. Coupling A105 / Forged Steel 534 Unused $
MTC67 Lot 1/2-3 3000 Thrd. 90s & Unions | A105/Forged Steel 1019 Unused $
MTCé68 Lot 1/2-1-1/4 3000 Red. Tee & Tee A105 / Forged Steel 600 Unused $
MTC69 Lot 1-12-2 3000 Thrd. 90 304L 1190 Unused $
MTC70 Lot 3 3000 Thrd. Couplings & Unions 304L 874 Unused $




SIZE (in.) MATERIAL WEIGHT (lbs.) NOTES LOT BID

Unused/
MTC71A Lot 1/2-2 3000 Thrd. Fittings Plated / FS / HDG 3430 Weathered/Some |$
thrd. rusty
MTC71B Lot 1/2-2 XH Nipples TBE Black SML 250 Unused
MTC72 Lot 1-12-2 3000 Thrd. Tee 304L 1820 Unused
Lot 1-1/2-3 3000 Thrd. Fittings 304L Unused
MTC73 994 $
Lot 1-1/2 x 3/4 3000 Thrd. Red. Tee 304L Unused
Lot 1-12x 1 3000 Thrd. Red. Tee 304L Unused
MTC74 Lot 1-1/2x 3/4 3000 Thrd. Red. Tee 304L 475 Unused $
Lot 1 3000 Thrd. Tee 304L Unused
MTC75 Lot 1/2-1 - 1/4-3 3000 Thrd. Fittings 304L 643 Unused
MTC76 Lot 1-12-3 3000 Thrd. Union / Tee 304L 893 Unused
MTC77 Lot -1 21'_ 12/; 1721 3000 Thrd. Red. Tee 304 780 Unused
MTC78 Lot 2 3000 Thrd. Coupling 304L 300 Unused
MTC79 Lot 2 3000 Thrd. Union A105 1238 Unused
MTC80 Lot 1-1/4 -2 3000 Thrd. Union/' A105 700 Unused
Tee/Coupling
MTCS81 Lot 3 3000 Thrd. Union A105 1297 Unused
Lot 1-12x1/2 3000 Thrd. Red. Tee A105 Unused
MTCS82 1500 $
Lot 2 3000 Thrd. Union A105 Unused
MTCS83 Lot 1-1/4 -2 3000 Thrd. Union/ Tee/ 45 304L 1006 Unused $
MTC84 Lot 1-1/4 -2 3000 Thrd. Union/ 90/ 304L 740 Unused
Coupling $
MTCS85 Lot 3 3000 Thrd. 90 A105 900 Unused $
MTC86 Lot 3/4-2 ’1‘ /i/ 2-1- 3000 Thrd. Fittings 304L 870 Unused $
MTC87 Lot 1-1/4 -3 3000 Thrd. Fittings 304L 625 Unused $
MTCS88 Lot 3 3000 Thrd. 90 A105 544 Unused $
MTC89 Lot 3 3000 Thrd. 90 304L 732 Unused $
MTC90 Lot 3 3000 Thrd. Tee 304L 924 Unused $
MTC91 Lot 12-2 3000 Thrd. 90/ Tee/ 304L 748 Unused |
Couplings
MTC92 Lot 1-1/4 23 X 3/41 3000 Thrd. Fittings A105 645 Unused $
MTC93 Lot 3 3000 Thrd. Union A105 445 Unused $
MTC94 Lot 1/2-2x 1/2-6 XH TBE Fittings 304/304L 270 Unused $
MTC95 Lot 1-1/2x3/4x 3 3000 Thrd. Red. Tee/ Unions A105 515 Unused $
P0O02-96 Lot 1 3000 Thrd. Tee HDG A105 1093 Unused $
PO0O2-97 Lot 172-1 3000 Thrd. 90/ Tee HDG 900 Unused $
POO02-98 Lot 12-1 3000 Forged Steel Fittings HDG 787 Unused $




	SLE Cover Letter 22-040
	SLE Flanges, BW & Forged Steel Fittings Inventory
	Sheet1


	Check One: Off
	fill_13: 
	fill_14: 
	fill_15: 
	fill_16: 
	fill_17: 
	fill_18: 
	fill_19: 
	fill_20: 
	fill_21: 
	fill_22: 
	fill_23: 
	fill_24: 
	fill_25: 
	fill_26: 
	fill_27: 
	fill_28: 
	fill_29: 
	fill_30: 
	fill_31: 
	fill_32: 
	fill_33: 
	fill_34: 
	fill_35: 
	fill_36: 
	fill_37: 
	fill_38: 
	fill_39: 
	fill_40: 
	fill_41: 
	fill_42: 
	fill_43: 
	fill_44: 
	fill_1: 
	fill_3: 
	fill_4: 
	fill_5: 
	fill_6: 
	fill_7: 
	fill_8: 
	fill_9: 
	fill_10: 
	fill_11: 
	fill_12: 
	fill_13_2: 
	fill_14_2: 
	fill_15_2: 
	fill_16_2: 
	fill_17_2: 
	fill_18_2: 
	fill_19_2: 
	fill_20_2: 
	fill_21_2: 
	fill_22_2: 
	fill_23_2: 
	fill_24_2: 
	fill_25_2: 
	fill_26_2: 
	fill_27_2: 
	fill_28_2: 
	fill_29_2: 
	fill_30_2: 
	fill_31_2: 
	fill_32_2: 
	fill_33_2: 
	fill_34_2: 
	fill_35_2: 
	fill_1_2: 
	fill_2_2: 
	fill_3_2: 
	fill_4_2: 
	fill_5_2: 
	fill_6_2: 
	fill_15_3: 
	fill_16_3: 
	fill_17_3: 
	fill_26_3: 
	fill_27_3: 
	fill_28_3: 
	fill_29_3: 
	fill_38_2: 
	fill_39_2: 
	fill_48: 
	fill_49: 
	fill_50: 
	fill_51: 
	fill_52: 
	fill_53: 
	fill_62: 
	fill_63: 
	fill_64: 
	fill_65: 
	fill_66: 
	fill_67: 
	fill_68: 
	Button1: 
	Company: 
	Bidder: 
	Date: 
	Phone: 
	POOs1: 
	fill_2: 
	fill_poos236: 
	mtc71a: 


